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3XML�V\XNXU�NHSDGD�7XKDQ�<DQJ�0DKD�(VD�SHQXOLV�SDQMDWNDQ�NDUHQD�EHUNDW UDKPDW�

GDQ� DQXJHUDK� \DQJ� GLEHULNDQ�1\D� SHQXOLV� GDSDW� PHQ\HOHVDLNDQ� WXJDV DNKLU� LQL�

7XJDV� DNKLU� LQL� GLVXVXQ� VHEDJDL� VDODK� VDWX� V\DUDW� NHOXOXVDQ� SDGD 3URJUDP�6WXGL�

6LVWHP�,QIRUPDVL�8QLYHUVLWDV�7HONRP�

'DODP� SHQ\XVXQDQ� WXJDV� DNKLU� LQL�� SHQXOLV� PHQGDSDWNDQ� EDQ\DN� EDQWXDQ� GDQ

GXNXQJDQ�GDODP�EHQWXN�DSDSXQ�GDUL�EHUEDJDL�SLKDN��8QWXN�LWX�WHULPDNDVLK \DQJ�

VHEHVDU�EHVDUQ\D�SHQXOLV�XFDSNDQ�NHSDGD�

�� %DSDN�5'�5RKPDW�6DHGXGLQ�VHEDJDL�SHPELPELQJ�,�\DQJ WHODK PHPELPELQJ

GDQ�PHPEHULNDQ�LOPXQ\D�NHSDGD�SHQXOLV�XQWXN PHQ\HOHVDLNDQ�WXJDV�DNKLU�LQL�

�� %DSDN�$KPDG�$OPDDULI�VHEDJDL�SHPELPELQJ�,,�\DQJ WHODK PHPELPELQJ GDQ�

PHPEHULNDQ�LOPXQ\D�NHSDGD�SHQXOLV�XQWXN PHQ\HOHVDLNDQ�WXJDV�DNKLU�LQL�

�� 'DQ�NHSDGD�SLKDN�SLKDN�\DQJ�WLGDN�GDSDW�GLVHEXWNDQ�VDWX�SHUVDWX�

3HQXOLV�VDQJDW�PHQ\DGDUL�EHUEDJDL�NHNXUDQJDQ�\DQJ�WHUGDSDW�SDGD�WXJDV�DNKLU LQL��

EDLN�NDUHQD�NHWHUEDWDVDQ�LOPX�PDXSXQ�FDUD�SHQXOLV�PHQ\DPSDLNDQQ\D� 8QWXN�LWX

SHQXOLV�VDQJDW�PHQHULPD�NULWLN�GDQ�EHUKDUDS�DGDQ\D�VDUDQ�GDUL�SDUD SHPEDFD�XQWXN�

EDKDQ�SHUEDLNDQ�GDODP�SHQXOLVDQ�NDU\D�LOPLDK�VHODQMXWQ\D�
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